

ON q -log-GAMMA-FUNCTIONS

HAN SOO KIM AND TAEKYUN KIM

§ I. Introduction

Throughout this paper \mathbf{Z} and \mathbf{C} will respectively denote the ring of rational integers and the complex number field.

We use the notation

$$[x] = [x : q] = \frac{1 - q^x}{1 - q}.$$

Hence

$$\lim_{q \rightarrow 1} [x : q] = x$$

for any $x \in \mathbf{C}$.

In the complex case [1], Carlitz's define a set of numbers $B_k(q)$ inductively by

$$B_0(q) = 1, (qB(q) + 1)^k - B_k(q) = \begin{cases} 1 & \text{if } k = 1 \\ 0 & \text{if } k > 1 \end{cases}$$

with the usual convention of replacing $B^i(q)$ by $B_i(q)$.

These numbers $B_k(q)$ are q -analogous of the ordinary Bernoulli numbers B_k , but they do not remain finite when $q = 1$.

Carlitz modified the definition as

$$\beta_0 = 1, q(q\beta + 1)^k - \beta^k = \begin{cases} 1 & \text{if } k = 1 \\ 0 & \text{if } k > 1 \end{cases}$$

Received September 9, 1994.

1991 AMS Subject Classification: 11M26, 11M06, 10A40, 26A33.

Key words and phrases: Γ -function, Bernoulli number, Stirling's formula.

This work was partially supported by the Basic Science Research Institute Program, Ministry of Education, 1995. The second author was partially supported by Jangjun Research Institute for Mathematical Science and TGRC-KOSEF, 1995.

with the usual convention of replacing β^i by β_i .

These numbers $\beta_k = \beta_k(q)$ are called Carlitz's q Bernoulli numbers, which reduce to B_k when $q = 1$.

Let u be a complex number with $|u| > 1$. Then the Carlitz's q Euler numbers $H_k(u, q)$ and the q -Euler polynomials $H_k(u, x : q)$ are defined inductively by

$$H_0(u, q) = 1, (qH + 1)^k - uH_k(u, q) = 0 \quad \text{for } k \geq 1$$

with the usual convention of replacing H^k by $H_k(u, q)$ and $H_k(u, x : q) = (q^x H + [x])^k$ for $k \geq 0$.

Carlitz's q -Euler numbers, which reduce to the ordinary Euler numbers $H_k(u)$ when $q = 1$.

Let $q, u \in \mathbf{C}$ with $|q| < 1$ and $|u| > 1$. It is easy to see that

$$\lim_{n \rightarrow \infty} [n] = \frac{1}{1 - q}.$$

For $s \in \mathbf{C}$, the complex function $l_q(s, u)$ is constructed by

$$l_q(s, u) = \sum_{n=1}^{\infty} \frac{u^{-n}}{[n]^s}.$$

For $k \geq 0$, it was proved in [2][4] that

$$l_q(-k, u) = \begin{cases} \frac{1}{u-1} & \text{if } k = 0 \\ \frac{u}{u-1} H_k(u, q) & \text{if } k \geq 1. \end{cases}$$

In [2], q Riemann ζ function was defined by

$$\zeta_q(s) = \frac{2-s}{s-1} (1-q) \sum_{n=1}^{\infty} \frac{q^n}{[n]^{s-1}} + \sum_{n=1}^{\infty} \frac{q^n}{[n]^s}$$

for $s \in \mathbf{C}$.

It is easy to see that

$$\zeta_q(1-k) = \begin{cases} q\beta_1(q) & \text{if } k = 1 \\ -\frac{\beta_k(q)}{k} & \text{if } k \geq 2 \end{cases}$$

for $k \geq 1$ integers.

In [6], Koblitz constructed a q -analogue of the p -adic L -function $L_{p,q}(s, \chi)$ and suggested questions. Koblitz's question was solved by T.Kim [3][4] in the p -adic case, but still remains open in the complex case.

In this paper, we prove that Carlitz's q -Bernoulli number occur in the coefficients of some Stirling type series for locally analytic q -log-gamma functions, which is an answer of Koblitz's question in the complex case.

§ 2. Results

It is well known that

$$\log \frac{\Gamma(x)}{\sqrt{2\pi}} \approx \left(x - \frac{1}{2}\right) \log x - x + \sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{k(k+1)} B_{k+1} \frac{1}{x^k}.$$

(Stirling asymptotic series)

Here, we treat the q -analogue of the above formula.

If we define the function

$$G_{u,q}(x) = \sum_{n=0}^{\infty} u^{-n} (x + [n]) \log(x + [n])$$

for $u \in \mathbf{C}$ with $|u| > 1$.

Then $G_{u,q}(x)$ is a locally analytic function on \mathbf{C} .

For $x \in \mathbf{C}$ with $|x| > \frac{1}{(1-|q|)^2}$, we have

$$\begin{aligned} G_{u,q}(x) &= \sum_{n=1}^{\infty} u^{-n} (x + [n]) \log(x + [n]) + x \log x \\ &= \sum_{n=1}^{\infty} u^{-n} x \left(1 + \frac{[n]}{x}\right) \log x \\ &\quad + x \sum_{n=1}^{\infty} u^{-n} \left(1 + \frac{[n]}{x}\right) \log \left(1 + \frac{[n]}{x}\right) + x \log x \end{aligned}$$

$$\begin{aligned}
 &= \left(\sum_{n=1}^{\infty} u^{-n} \right) x \log x + \left(\sum_{n=1}^{\infty} u^{-n} [n] \right) \log x \\
 &\quad + \sum_{n=1}^{\infty} \left(\sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{k(k+1)} \frac{[n]^{k+1}}{x^k} + [n] \right) u^{-n} + x \log x \\
 &= \frac{1}{u-1} x \log x + \frac{u}{u-1} H_1(u : q) \log x \\
 &\quad + \sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{k(k+1)} \frac{u}{(u-1)} H_{k+1}(u : q) \frac{1}{x^k} \\
 &\quad + \frac{u}{u-1} H_1(u : q) + x \log x.
 \end{aligned}$$

By definition of q -Euler numbers

$$qH_1(u : q) + 1 - uH_1(u : q) = 0.$$

Hence, we have $H_1(u : q) = \frac{1}{u-q}$. Thus

$$\begin{aligned}
 G_{u:q}(x) &= \frac{u}{u-1} \sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{k(k+1)} H_{k+1}(u : q) \frac{1}{x^k} \\
 &\quad + \frac{u}{u-1} H_1(u : q) (\log x + 1) + \frac{u}{u-1} x \log x \\
 &= \frac{u}{u-1} \sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{k(k+1)} H_{k+1}(u : q) \frac{1}{x^k} \\
 &\quad + \frac{u}{u-1} \frac{u}{u-q} (\log x + 1) + \frac{u}{u-1} x \log x \\
 &= \frac{u}{u-1} \left\{ x \log x + \frac{1}{u-q} (\log x + 1) \right\} \\
 &\quad + \frac{u}{u-1} \sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{k(k+1)} H_{k+1}(u : q) \frac{1}{x^k}.
 \end{aligned}$$

Therefore we obtain the following

THEOREM 1. For $x, u \in \mathbf{C}$ with $|x| > \frac{1}{(1-|q|)^2}$, we have

$$(1) \quad G_{u;q}(x) = \frac{u}{u-1} \left\{ x \log x + \frac{1}{u-q} (\log x + 1) \right\} \\ + \frac{u}{u-1} \sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{k(k+1)} H_{k+1}(u : q) \frac{1}{x^k}.$$

Let $G'_{u;q}(x) = \frac{d}{dx} G_{u;q}(x)$. Then

$$(2) \quad G'_{u;q}(x) = \frac{u}{u-1} \left\{ \log x + 1 + \frac{1}{u-q} \frac{1}{x} \right\} \\ + \frac{u}{u-1} \sum_{k=1}^{\infty} \frac{(-1)^k}{k+1} H_{k+1}(u : q) \frac{1}{x^{k+1}} \\ = \frac{u}{u-1} \left\{ \log x + 1 + H_1(u : q) \frac{1}{x} \right\} \\ + \frac{u}{u-1} \sum_{k=2}^{\infty} \frac{(-1)^{k+1}}{k} H_k(u : q) \frac{1}{x^k} \\ = \frac{u}{u-1} (\log x + 1) + \frac{u}{u-1} \sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{k} H_k(u : q) \frac{1}{x^k}.$$

By using the q -Riemann ζ -function [2], we have

$$-\frac{\beta_k(q)}{k} = \zeta_q(1-k) = -\frac{1+k}{k} (1-q) \sum_{n=1}^{\infty} [n]^k q^n + \sum_{n=1}^{\infty} [n]^{k-1} q^n \\ = -\frac{1+k}{k} (1-q) \frac{q^{-1}}{q^{-1}-1} H_k(q^{-1} : q) + \frac{q^{-1}}{q^{-1}-1} H_{k-1}(q^{-1} : q) \\ = -\frac{1+k}{k} H_k(q^{-1} : q) + \frac{1}{1-q} H_{k-1}(q^{-1} : q).$$

For $k(\geq 2) \in \mathbf{Z}$, we have

$$-\frac{\beta_k(q)}{k} = -\frac{1+k}{k} H_k(q^{-1} : q) + \frac{1}{1-q} H_{k-1}(q^{-1} : q).$$

Now, we define the function $G_q(x)$ by

$$G_q(x) = (qx - x - 1)G'_{q^{-1};q}(x) + 2(1 - q)G_{q^{-1};q}(x) + \frac{1}{1 + q} + H_1(q^{-1}; q).$$

Then $G_q(x)$ is a locally analytic function on \mathbf{C} .

By (1) and (2), we have

$$G'_{q^{-1};q}(x) = \frac{1}{1 - q}(\log x + 1) + \frac{1}{1 - q} \sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{k} H_k(q^{-1}; q) \frac{1}{x^k}$$

and

$$\begin{aligned} G_{q^{-1};q}(x) &= \frac{1}{1 - q} \left\{ x \log x + \frac{q}{1 - q^2} (\log x + 1) \right\} \\ &\quad + \frac{1}{1 - q} \sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{k(k+1)} H_{k+1}(q^{-1}; q) \frac{1}{x^k}. \end{aligned}$$

Thus we find that

$$\begin{aligned} &(qx - x - 1)G'_{q^{-1};q}(x) + 2(1 - q)G_{q^{-1};q}(x) \\ &= (q - 1)xG'_{q^{-1};q}(x) - G'_{q^{-1};q}(x) + 2(1 - q)G_{q^{-1};q}(x) \\ &= (q - 1)x \left\{ \frac{1}{1 - q}(\log x + 1) + \frac{1}{1 - q} \sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{k} H_k(q^{-1}; q) \frac{1}{x^k} \right\} \\ &\quad - \frac{1}{1 - q}(\log x + 1) - \frac{1}{1 - q} \sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{k} H_k(q^{-1}; q) \frac{1}{x^k} \\ &\quad + 2 \left\{ x \log x + \frac{q}{1 - q^2} (\log x + 1) \right\} + 2 \sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{k(k+1)} H_{k+1}(q^{-1}; q) \frac{1}{x^k} \\ &= -x(\log x + 1) - \sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{k} H_k(q^{-1}; q) \frac{1}{x^{k-1}} - \frac{1}{1 - q}(\log x + 1) \\ &\quad - \frac{1}{1 - q} \sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{k} H_k(q^{-1}; q) \frac{1}{x^k} + 2x \log x + \frac{2q}{1 - q^2} (\log x + 1) \\ &\quad + 2 \sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{k(k+1)} H_{k+1}(q^{-1}; q) \frac{1}{x^k} \end{aligned}$$

$$\begin{aligned}
 &= x \log x - x - \frac{1}{1-q}(\log x + 1) + \frac{1}{1-q}(\log x + 1) - \frac{1}{1+q}(\log x + 1) \\
 &\quad + \sum_{k=1}^{\infty} \frac{(-1)^k}{k} H_k(q^{-1}; q) \frac{1}{x^{k-1}} + \frac{1}{1-q} \sum_{k=1}^{\infty} \frac{(-1)^k}{k} H_k(q^{-1}; q) \frac{1}{x^k} \\
 &\quad + 2 \sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{k(k+1)} H_{k+1}(q^{-1}; q) \frac{1}{x^k} \\
 &= x \log x - x - \frac{1}{1+q}(\log x + 1) \\
 &\quad + \sum_{k=0}^{\infty} \frac{(-1)^{k+1} k}{(k+1)k} H_{k+1}(q^{-1}; q) \frac{1}{x^k} - \frac{1}{1-q} \sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{k} H_k(q^{-1}; q) \frac{1}{x^k} \\
 &\quad + 2 \sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{(k+1)k} H_{k+1}(q^{-1}; q) \frac{1}{x^k} \\
 &= x \log x - x - \frac{1}{1+q}(\log x + 1) - H_1(q^{-1}; q) \\
 &\quad + \sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{k} \left\{ \frac{k+2}{k+1} H_{k+1}(q^{-1}; q) - \frac{1}{1-q} H_k(q^{-1}; q) \right\} \frac{1}{x^k} \\
 &= x \log x - x - \frac{1}{1+q}(\log x + 1) - H_1(q^{-1}; q) \\
 &\quad + \sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{k(k+1)} \frac{1}{x^k} \beta_{k+1}(q).
 \end{aligned}$$

Hence, we have

$$G_q(x) = \left(x - \frac{1}{[2]}\right) \log x - x + \sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{k(k+1)} \beta_{k+1}(q) \frac{1}{x^k}.$$

THEOREM 2. For $x \in \mathbf{C}$ with $|x| > \frac{1}{(1-|q|)^2}$,

$$G_q(x) = \left(x - \frac{1}{[2]}\right) \log x - x + \sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{k(k+1)} \beta_{k+1}(q) \frac{1}{x^k}.$$

References

1. L. Carlitz, *q-Bernoulli numbers and polynomials*, Pure J. **15** (1948), 987-1000.
2. T. Kim, *On the q-analogues of p-adic gamma and L-functions*, (Ph.D. thesis) (1994).
3. T. Kim, *On a q-analogue of p-adic log gamma functions and related integrals*, to accepted in J. Number theory/ Number theory and related topics(Proc. P. I. M. S. Seoul, Republic of Korea) (1994), 67-75.
4. T. Kim, *On explicit formulas of p-adic q-L-functions*. Kyushu J. Math. **48** (1994), 73-86.
5. H. S. Kim and T. Kim, *On p-adic differentiable and bounded functions*, Kyungpook Math. J. **35** (1995), 171-178.
6. N. Koblitz, *On Carlitz's q-Bernoulli numbers*, J. Number theory **14** (1982), 332-339.

DEPARTMENT OF MATHEMATICS, COLLEGE OF NATURAL SCIENCES, KYUNGPOOK NATIONAL UNIVERSITY, TAEGU 702-701, KOREA